gini = 0.0
samples = 1
value = [0, 1]

X[0] <= 730.0
gini = 0.42
samples = 90
value = [63, 27]

l

X[2]<=2.5

gini =
samples = 320
value = [218, 102]

0.434

i

gini = 0.486

X[1] <= 3.41

samples = 173
value = [101, 72]

'

X[2] <= 1.5
gini = 0.496

samples = 83
value = [38, 45]

[N\

Nlalse

X[1] <= 3.465
gini = 0.325
samples = 147
value = [117, 30]

l

gini = 0.228
samples = 84
value = [73, 11]

X[0] <= 730.0
gini = 0.421
samples = 63

value = [44, 19]

'

X[0] <= 320.0 — X[1] <= 3.895 X[1] <= 3.495 X[1] <= 3.475 o
gini = 0,393 gini = 0.469 gini = 0.32 gini = 0.49 gini = 0.38 gini = 0.5
- samples = 8 o . o samples = 12
samples = 82 value = [3, 5] samples = 25 samples = 58 samples = 51 value = [6, 6]
value = [60, 22] ’ value = [5, 20] value = [33, 25] value = [38, 13] ’
gini = 0.384 gini= 0.111 gini = 0.5 A= S0 A= 2 7 gini = 0.0 gini = 0.365
samples = 81 samples = 17 samples = 8 s%lm les "~ 12 s%lm les _ 46 samples = 1 samples = 50
value = [60, 21] value = [1, 16] value = [4, 4] Valug =, 01 Valuep: 30, 16] value = [0, 1] value = [38, 12]
X[0] <= 460.0 L - l X[0] <= 790.0
L gini = 0.198 gini = 0.227 L
sgannll le0s'4—4§ samples = 9 samples = 23 s%lr?l 163'29213
P value = [1, 8] value = [20, 3] P!
value = [2, 1] value = [10, 13]
gini = i — gini = 0.465 A= 3
samples = l samples = 2 samples = 19 sgam les' _
value = [0, 1] value = [2, 0] value = [7, 12] P
value = [3, l

\

gini =

samples = 3
value = [3, 0]

gini =
samples = l
value = [0, 1]




